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Good Morning

Please place cell phones in holder.

Please grab a marker from me and try warm-
up on board assigned.
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Solving by Quadratic Formula

Given a quadratic function in standard form: Interpretation of the Discriminant (b2 - 4ac)
ax* +bx+c =0, where a =0 , e Ifb2-4acis posifive:

real Solutic

e Ifb2-4aciszero:

n

The discriminant is found by using: b? - 4ac

This value is used to determine the number of real ,‘.m
solutions/zeros/roots/x-intercepts that exist for a quadratic r m\ so
equation. * If b2 - 4ac isinegative:

2 1maginovy

1. Find the discriminant for the previous three functions:

a) f(x)=x*—4x+3
c|=/| bZ/ 5\2 ,3 Discriminant: L'

b®-gac [ of real solufions:
G- 4 (VY3) e e

b) f(x)=x>+10x+25

a= ‘ b= 'D c= 2'5 Discriminant: O
b2 -qac' # of real zeros: | r‘d

(10)*- 4 (1))

c) flx)=x*+x+1

a= | b= ' c= , Discriminant: = 3

bz_ 4a& < # of real roots:u_MinarJ
(1)-40X1)




F19 Day 7 Quad.notebook January 24, 2020

&
<
N
s
X
O\t
%0



F19 Day 7 Quad.notebook

_+5V

January 24, 2020



F19 Day 7 Quad.notebook January 24, 2020

We have leamed three methods for solving quadratics: factoring, taking the square root, and completing the
square. Factoring quadratics only works when the equations are factorable. Taking the square root only works
when the equations are not in standard form. Completing the square is only used when ais 1 and b is even.

What method do you use when your equations are not factorable, but are in standard form, and a may not be 1
and b may not be even?

The Quadratic Formula
for equations in standard form: y = ax2+ bx + ¢

_—b+ NJZ‘J: —4dac
2a

X represents the zeros and b2 — 4ac is the discriminant

For the quadratic equations below, use the quadratic formula to find the solutions. Write your answer in simplest
radical form.

N 4¢-13x+3=0 =4 H-=13c- 3 2) 9% +6x+1=0 o=1b=kc=l_
-4 (aYc) b*-4ac
2
(-l?;}d- HeY3) Y- (U)
(0]
— (-13) TV )2 -(L)lo
——Z(T) ()
Discriminant- |2.\ Discriminant: @) _
30|u+ions:Mﬁﬂ\§ f“' zeros | So]ution real

———— >

g 73 13
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3) 7x*+8x+3=0 ‘O:lb:&C:i 4) -3x*+2x=-8 O:.lbz_zczl
2 “3)(’4-2!-!-?‘-0
b 2" 5 (a,)(C) (2 )"-_ y (..3)(3)
(%) -4(7)(3) 100
~ 20
-(2)% {100

~(s)tl-20 i —2C3)
— 2(7) £

Discriminant: OV aD ’2;"‘06“‘““& Discriminant: , 00 ar'—“x

X=

£ 5 X= -‘It L3 210 =2-10
;z:_'ﬂ-?‘ 2
5) 6x*+3=10x O:Qb:'loc:i 6}— +6x+13=0 ﬁbﬂ;_ x43
bx*-1xr3= 0 )= 4(5)(13)
(-w)‘-s:t( L)(3) (vy 10
%_ () TV
—(10) ¥V28 2(%)
2( ) otV

Discriminant: ___ Discriminant:

| |
e
: r (42

-
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